101/1
Ušetřili………………………...10 000 Kč
Boty………………………………..870 Kč
Kabát (Iva)…………………....1250 Kč
Kostým…………………………..2190 Kč
Kabát (tatínek)……………….2870 Kč
Celkem zaplatili…………………….? Kč
Zbylo…………………………………....? Kč
870+1250+2190+2870 = 7180
10 000 –  7180 = 2820
Za oblečení zaplatili 7180 Kč a zbylo jim 2820 Kč.
101/3
1200 g > 1 kg o 200 g
55 cm > 5 dm o 5 cm
6030 m > 6 km o 30 m
1500 mm > 1m o 500 mm
65 s > 1 min o 5 s
2 h < 125 min o 5 min
101l > 1 hl o 1l
20 t > 200 kg o 19 800 kg
101/6
964(3)
342(2)
658
101/9
a = 5
b = 8
c = 54

